
 


01.  


1. 20oC40oC 


A.  (m1) = 50 gm   (T1) = 20oC 
 (m2) = 50 gm    (T2) = 40oC 
     (T) = ௠భ భ்ା௠మ మ்

௠భା௠మ
      

    = ହ଴௑ଶ଴ାହ଴௑ସ଴
ହ଴ାହ଴

 = ଵ଴଴଴ାଶ଴଴଴
ଵ଴଴

   = ଷ଴଴଴
ଵ଴଴

    = 30oC 
2. 
panting

A. 





 
3. 

A. 





4. 
A. 







5. 


A.





 
6.  
a) 100oC1gm100oC

b) 100oC1gm0oC

c)  0oC1gm 0oC


d)  100oC1gm 0oC


A. a) 100oC1gm100oC 
          
 (Q1) = mL  

= 1x540 = 540 cal 
         (L) = 540 cal/gm. 
    b) 100oC1gm0oC
          
          (Q2) = m.s.∆T  

= 1x1x100  
= 100 cal 

    c) 0oC1gm 0oC
 
          (Q3) = mL  

= 1x80 = 80 cal 
         (L) = 80 cal/gm. 
    d) 100oC1gm 0oC
 
          (Q) = Q1+ Q2+ Q3 

= 540+100+80 
= 720 cal 
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7. 

A. 



  
   : (1 
 (m1) (2) 
 (m2) .  

    (3) 
 (T1

oC)  .  


100oC     
    (T2

oC)  


(T3

oC)  
(m3) .

(Q) = m.s.∆T 

 : 
 = 

+  
(m3-m2).Sl.(T2-T3) = m1.Sc.(T3-T1)  + (m2-m1).Sw.(T3-T1) 

ܵ௟ = [௠భ	ௌ೎ା(௠మି௠భ)ௌೢ	][ య்ି భ்]
(௠యି௠మ)( మ்ି య்)

 


  Sw  = 1 cal/gm -oC 
Sc   = 0.095 cal/gm -oC 

8. 20oC 
A.  toC   =  (t + 273)K 
     20oC  = (20 + 273)K = 293K 
9. 


A. : 
    * 
    * 
    * 

    * 
    * 
100oC 

10. 
 
A. 



 
11. 


A. 



 
12. 



A. 






 













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16. 


A. 










 
17. 
2oC


A.   : ∆T1 = 2oC   
                          m1 = m (1ℓ ) 

                        ∆T2 = ?   
                         m2 = 2m (2ℓ ) 
                (Q) = m.s.∆T 
      

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∆T2 = 1oC 
18. 


A. 




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
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19. 
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
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
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


 
20.  
A. 




21.  
A. 

22.  
A. 

 
23.  
A. 

 

*  * 
24. 

25. 

26. 

27. 
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